vavcnaée

FURNITURE

Assembly Instructions

Cascade

Page 1 of 5

King Bed

Made in Viet Nam

email:  info@riverside-furniture.com
Hardware and Parts packed with the Headboard
Headboard Panel Left Leg Right Leg Stretcher
il
1pe 1pc 1pc 1pe
@5/16" x 1-1/2" Long J5/16" x 1-3/4" Long D5/16" x 19 x 2mm @5/16" x 12 x 3mm 5mm Allen Wrench
Allen-Head Bolt Allen-Head Bolt Flat Washer Spring Washer
= |
H-B 4 pcs. H-F 6 pcs. 10 ps. 10 pcs. H-1 1 pe.
Hardware and Parts packed with the Footboard
Footboard Panel Slat Support Leg #8 x 1" Wood
\ with leveler Screw
e FC x 14pes| D 14 ps
Hardware and Parts packed with the Bed Rails
Bed Rail M5/16" x 4-1/2 " All-Thread Bolt ©5/16" Hex Nut
(=7
o et Nt
8 pes. | (R-C 8 pcs.
M5/16" Spring Washer Curved Washer 12mm Open Wrench
32L x 13 x 8mm z
R-A 2 pes. R-D 8pcs. | (R-E @ 8 pcs. R-F 1 pc.

73472 5/0-6/6 Bed Rails

73480 6/0-6/6 Panel Headboard
73481 6/6 Panel Footboard




Riverside

FURNITURE

Cascade
King Bed
Assembly Instructions

Page 2 of 5

Made in Viet Nam

2 pcs.

email:  info@riverside-furniture.com
Hardware and Parts packed with the Headboard
Headboard Panel Left Leg Right Leg Stretcher
il
1 pc. 1 pc. 1 pc. 1 pc.
@5/16" x 1-1/2" Long J5/16" x 1-3/4" Long 5/16" x 19 x 2mm @5/16" x 12 x 3mm 5mm Allen Wrench
Allen-Head Bolt Allen-Head Bolt Flat Washer Spring Washer
@ %@
H-B 4 pcs. H-F 6 pcs. 10 ps. 10 pcs. H-1 1 pe.
Hardware and Parts packed with the Footboard
Wood Slat Slat Support Rails Slat Support Leg #8 x 1" Wood
with leveler Screw
2 pes. x 10 pes.| (F-E) 26 pes.
Hardware and Parts packed with the Bed Rails
Bed Rail M5/16" x 4-1/2 " All-Thread Bolt @5/16" Hex Nut
(=7
i) =
8 pes. | (R-C 8 pcs.
M5/16" Spring Washer Curved Washer 12mm Open Wrench
0
32L x 13 x 8mm

&

R-D 8 pcs. R-E

3

%

8 pcs. R-F 1 pe.

73480 6/0-6/6 Panel Headboard
73483 6/6 Uph Storage Footboard
73479 5/0-6/6 Bed Rails




. . ﬁ Cascade Page 3 of 5
P veh King Bed Made in Viet Nam

FURNITURE

Assembly Instructions

email:  info@riverside-furniture.com

Detail 1

USE THESE HOLES FOR ATTACHING A FULL SIZE (6/0)
METAL BED FRAME

CUSTOMER TO PROVIDE 5/16 X 1-3/4" LONG BOLTS, NUTS
& WASHERS TO CONNECT THE METAL BED FRAME

ANEAN

USE THESE HOLES FOR ATTACHING WOOD SIDE RAILS.
ALL HARDWARE IS INCLUDED WITH THE SIDE RAILS
7? 5

USE THESE HOLES FOR ATTACHING A KING SIZE (6/6)
METAL BED FRAME

CUSTOMER TO PROVIDE 5/16 X 4-1/2" LONG BOLTS, NUTS
& WASHERS TO CONNECT THE METAL BED FRAME

The Headboard may be used alone with a King or Full Size Metal Bed Frame




Page 4 of 5

d
Ruvetsidle | il

FURNITURE

Made in Viet Nam

Assembly Instructions

email:  info@riverside-furniture.com

—
Detail 2

§

i@
"/

Detail 4

g ~—————(|

Bed Rail
|
g
7|

Adj. Glide

Headboard




Page 5 of 5
Made in Viet Nam

Cascade

King Bed
Assembly Instructions

Headboard

FURNITURE
info@riverside-furniture.com

Riverside

Bed Rail

Adj. Glide






